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No BT EA HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 A= R4.6.14 [RARLULM =T (FBER BRHEE9(<3.2) BREE9(<2.6) BRHEEY
2 REF0+F R4.6.14 [RARLULM =T (FBER BRHET(<3.8) BRHET(<4.3) - Janpcc
3 At R4.6.13 BEERLULM=T (FE% BRHET(<L5.6) BRHET(<L3.7) - Janpcc N
4 2emh R4.6.14 BRESITF (FEER) BRHEE9(<3.3) BRHEE9(<3.8) - Janpcac N
5 JI{RET R4.6.15 BRESITF (FEER) BREE9(<3.1) BREE9(<24) - Janpcc
6 wmET R4.6.13 Hhol (g BRHEE9(<5.3) BRHEE9(<4.5) - Janpcc N
7 BT R4.6.13 hotr (FE) BREEI(<47) BREE3(<54) BRHEY
8 AT R4.6.13 hotr (FE) BRHEE9(<3.9) BRHEE9(<34) BRHEY
9 Hitm R4.6.13 AE(FHE) BREE9(<4.0) 114 11
10 HEHET R4.6.12 AE(FHE) BREE9(<4.9) BRHEE9(<48) BRHEY
11 RRHT R4.6.12 SHIEAZES (FHE) BHEET(<45) BRHEET(<41) BHEY
12 SEIRTHET R4.6.11 SHIEAZES (FHE) BHET(<43) BHEEY(<L5.0) BHEY
13 KEH R4.6.13 SALES (B74) BRHEEY(<72) BHEEY(<L5.6) BREEY
14 Y HT R4.6.12 SALES (B74) BHEEY(<6.5) BHEEY(L55) BHEY
15 =EIRTHT R4.6.11 SALES (B74) BRHEET(<T7.1) BRHE9(<6.1) BHEY
16 RIGH R4.6.13 f=ITDOZ (F4) BRHEE9(<5.9) BRHE9(<5.9) BREEY




BRERER

No b1 FEH APlniESE ti.L-134 t 9 L-137 EEE
Ba. kg Ba. kg Bqg. kg
17 T 4ERET R4.6.12 f=ITDZ (F4) BRHEET(<47) BRHEI(<45) BREEY
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